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NIV FE i N WEZAFEKBEH B NN S0 (RE). ZDIENL R
L E N B K B RS, BMESNG WEWRD. TOR A, K I L
gL E S LML THW (X9, n=7, r2=0.66, p<0.05). — F&,
KT M HE M B BE SR LK M O BT LM I BE AR oo (n=11,
2=0.03, p>0.05) .

20004F JEIZ R L TA /U VI LD E ¥ A LmK H 138441 pr T,

We = Az P-4 o m B OA EH1E60.6haTh o, TOWN 795 AT (94.2%)
W RS Thask i ok H T, #% % [ A5 1E55.2ha(91.0%) Ele o7z, #F 5 53
Rt ofs % B %% cll s & (X 10, n=844, r*=0.87, p<0.0001), /K H (fi

Bi N lha AR Wilz/bla L7z,

y=0.14x"0-5639

X E A oK | o fE (ha)

o
=¥

y

m i N T R SN 2305 BT 0K MK FE M OB, KX DT LT
WO T (3.0%) DB Th -7 (F6). M o+ Bk o5 Kk, i
VE R 228 18 T Elc b2 < (T4.7%), 18 M 12626 7T (20.3%), Wz i & {6 1%

BT (4.9%) Tho7- (R 7). UL, P oK W\ g3 izs 0 Th 1096 1

55



%5 1999F D BEEEHTIZHS THETE, E=5lD
JKEE.

KB (%)
5 KHEMEE ozt
Ahazk i 4hall b ik
200m3kiE 425 (75.1) 36 (6.4) 461 (81.4)
200mLl Lt 103 (18.2) 2 (0.4) 105 (18.6)
=518 528 (93.3) 38 (6.7) 566 (100.0)

X 2—test p<005
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